A second look at the test beam data or
do we see what we expect ?

NB :
- not Dark noise corrected

- v3 processing
- eventlype = 4 && muonType==20 (crosses all GRAINITA)
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hitTot {muonType==20&&eventType==4}
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Muon 59 - 60, hitTot>500, Troll1 HL hMapG_DWC
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Muon 59 — 60, hitTot>500, Troll1 HL
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hxM

hxM5
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Pions : run 50 - 51

Change in yM ?
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Closer look at Muon (run 59 — 60) 5x5 trigger Troll1 — Heavy liquid

hitTot vs DWC1 track position (cm)

V1
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hitTot vs DWC1 track position (cm)
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We expect in these cases to have a much smaller Dark noise.
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hitTot {(x1!=0 && y1!=0)&&(eventType == 4)}
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Let's do the same with pion beam !
Closer look at Pion (run 57 — 58) 5x5 trigger Troll1 — Heavy liquid
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hitTot vs DWC1 track position (cm)
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Troll2 Heavy Liquid Pion Run 53 54 55 zone3("x1>-.5 && x1<.5 && y1<.8 && y1>0")

hitTot vs DWC1 track position (cm)
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Troll2 Heavy Liquid Pion

12/07/2024

runs 53 54 55
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Troll 1 Pion Water Run 50 51

hitTot vs DWC1 track position (cm) same zones
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Pion — Troll1 — Water
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zone3("x1>-.5 && x1<.5 && yl1<.8 && y1>0")
zone2("x1>-1.6 && x1<-.5 && y1<.8 && y1>0")
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still true on smaller zones ... -9 <x1 <0 && y1>-2 && y1<0
O< x1 <.5 && y1>-2 && y1<0
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hitTot>600

hitTot vs DWC1 track position (cm)
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118 — Event Type = 4 LED reste piedestal ?
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LED + piedestal ?

LED-only
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Muon
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changes in position of GRAINITA ... Beam changes
With 3x3 in the trigger (Samedi soir S, MH)
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Trigger 5x5
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